

Proposal

Proposal Number Account Number/Name

2111907290 747676

TEMPLE COLLEGE

Created On

11/11/2024

Created By

Brian Supak

Thank you for creating your proposal, details are provided below. You can access this proposal from your Apple Store for Education Institution by searching proposal number 2111907290.

Comments from Proposer:

21 New VA iMac Computers

Item	Product / Description	Total	Unit Price	Total Price
		Quantity		
1	Z1K1 24-inch iMac with Retina 4.5K display: Apple M4 - Silver	21	2,159.00	45,339.00 USD
	 Specifications Processor: Apple M4 chip with 10-core CPU, 10-core GPU, 16-core Neural Engine Memory: 32GB unified memory Storage: 1TB SSD storage Mouse or Trackpad: Magic Mouse Display: Standard glass Ethernet: Gigabit Ethernet Thunderbolt: Four Thunderbolt 4 ports Pro Apps Bundle for Education: None Keyboards: Magic Keyboard with Touch ID - US English Accessory Kit: Accessory Kit 			
2	S7729LL/A 3-Year AppleCare+ for Schools - iMac	21	119.00	2,499.00 USD
			Subtotal	47,838.00 USD
			Estimated Tax	0.00 USD
			Total	47,838.00 USD

Please note that your order subtotal does not include sales tax or rebates. Sales tax and rebates, if applicable, will be added when your order is processed. Your order total may include estimated sales tax that is subject to change at the time your order is processed.

How to Order

If you would like to convert this Proposal to an order, log into your Apple Store for Education Institution and select 'Proposal' from the pull-down menu. Search for this Proposal by entering the Proposal Number referenced above.

Note: A Purchaser login is required to order. Visit your Apple Store for Education Institution to login or create your Purchaser Apple ID.

The prices and specifications above correspond to those valid at the time the Proposal was created and are subject to change. Purchases are subject to the terms and conditions of your agreement with Apple and the Apple Store for Education Institution.

Copyright © 2024 Apple Inc. All rights reserved.



Proposal

Proposal Number Account Number/Name

2111921718 747676

TEMPLE COLLEGE

Created On

11/19/2024

Created By

Brian Supak

Thank you for creating your proposal, details are provided below. You can access this proposal from your Apple Store for Education Institution by searching proposal number 2111921718.

Item	Product / Description	Total Quantity	Unit Price	Total Price
1	Z1FP 16-inch MacBook Pro: Silver	10	2,479.00	24,790.00 USD
	 Chip (Processor): Apple M4 Pro with 14-core CPU, 20-core GPU and 16-core Neural Engine Memory: 24GB unified memory Storage: 1TB SSD storage Power Adapter: 140W USB-C Power Adapter Thunderbolt: Three Thunderbolt 5 ports, HDMI port, SDXC card slot, MagSafe 3 port Display: 16-inch Liquid Retina XDR display Display: Standard display finish Pro Apps Bundle for Education: None Keyboard Language: Backlit Magic Keyboard with Touch ID - US English Accessory Kit: Accessory Kit 			
2	SD6W2LL/A 3-Year AppleCare+ for Schools - 16-inch MacBook Pro Apple Silicon (no service fees)	10	289.00	2,890.00 USD
3	Z1FG 14-inch MacBook Pro: Space Black	1	3,529.00	3,529.00 USD
	Specifications • Chip (Processor): Apple M4 Max with			

16-core CPU, 40-core GPU and 16-core Neural Engine

- Memory: 64GB unified memory
- Storage: 1TB SSD storage
- Power Adapter: 96W USB-C Power Adapter
- Thunderbolt: Three Thunderbolt 5 ports, HDMI port, SDXC card slot, MagSafe 3 port
- Display: 14-inch Liquid Retina XDR display
- Display: Standard display finish
- Pro Apps Bundle for Education: None
- Keyboard Language: Backlit Magic Keyboard with Touch ID - US English
- Accessory Kit: Accessory Kit

4 SD6M2LL/A 3-Year AppleCare+ for Schools - 14-inch MacBook Pro (no service fees) 1 209.00 209.00 USD

Subtotal 31,418.00 USD
Estimated Tax 0.00 USD
Total 31,418.00 USD

Please note that your order subtotal does not include sales tax or rebates. Sales tax and rebates, if applicable, will be added when your order is processed. Your order total may include estimated sales tax that is subject to change at the time your order is processed.

How to Order

If you would like to convert this Proposal to an order, log into your Apple Store for Education Institution and select 'Proposal' from the pull-down menu. Search for this Proposal by entering the Proposal Number referenced above.

Note: A Purchaser login is required to order. Visit your Apple Store for Education Institution to login or create your Purchaser Apple ID.

The prices and specifications above correspond to those valid at the time the Proposal was created and are subject to change. Purchases are subject to the terms and conditions of your agreement with Apple and the Apple Store for Education Institution.

Copyright © 2024 Apple Inc. All rights reserved.



Proposal

Proposal Number Account Number/Name

2111928944 747676

TEMPLE COLLEGE

Created On

11/25/2024

Created By

Brian Supak

Thank you for creating your proposal, details are provided below. You can access this proposal from your Apple Store for Education Institution by searching proposal number 2111928944.

Item	Product / Description	Total Quantity	Unit Price	Total Price
1	Z1FF 14-inch MacBook Pro: Space Black	31	2,559.00	79,329.00 USD
	 Chip (Processor): Apple M4 Pro chip with 14-core CPU, 20-core GPU and 16-core Neural Engine Memory: 48GB unified memory Storage: 1TB SSD storage Power Adapter: 96W USB-C Power Adapter Thunderbolt: Three Thunderbolt 5 ports, HDMI port, SDXC card slot, MagSafe 3 port Display: 14-inch Liquid Retina XDR display Display: Standard display finish Pro Apps Bundle for Education: None Keyboard Language: Backlit Magic Keyboard with Touch ID - US English Accessory Kit: Accessory Kit 			
2	SD6M2LL/A 3-Year AppleCare+ for Schools - 14-inch MacBook Pro (no service fees)	31	209.00	6,479.00 USD
			Subtotal	85,808.00 USD
			Estimated Tax	0.00 USD
			Total	85,808.00 USD

Please note that your order subtotal does not include sales tax or rebates. Sales tax and rebates, if applicable, will be added when your order is processed. Your order total may include estimated sales tax that is subject to change at the time your order is processed.

How to Order

If you would like to convert this Proposal to an order, log into your Apple Store for Education Institution and select 'Proposal' from the pull-down menu. Search for this Proposal by entering the Proposal Number referenced above.

Note: A Purchaser login is required to order. Visit your Apple Store for Education Institution to login or create your Purchaser Apple ID.

The prices and specifications above correspond to those valid at the time the Proposal was created and are subject to change. Purchases are subject to the terms and conditions of your agreement with Apple and the Apple Store for Education Institution.

Copyright © 2024 Apple Inc. All rights reserved.